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max intervals of incr
for f, if f/(z) = 2?(xz —1)2/(x —2)3(z — 3)2.

f! 02 02 u3 U2
0 1 > 3
(a) [0, 00) NOTE:

f(2) and f(3)
DNE

(b)[1,00)
(€)[2,00)

(d) none of the above
0% 0% 0% 0%
. =N S AN
Correct: (2,3) and (3, o) |4 ==r==ruE=uus
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max interval of decr.
for f, if f'(z) = —(x — 1)2(z — 2)(x — 3)2.

r_ 02 ; 02

0 1 2 3

(a)[1,00)

(b)[2,00)

(€)[3,00)

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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max intervals of cc dn \
for f, if f(z) = —e %(x — 1)?(x — 2)3(x — 3)2.

" 02 0° 02

O 1 2 3

(2) [0, 00)
(b)[1,00)
(€)[2,00)

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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Newton’'s method formula
to solve 223 — 4z + 8 = 0.

. 293%—4xn—|—8
(@) Tng1 = 2n - 62 — 4
612 — 4
b — o 200
6x2 — 4
(C) Tnt1=n— ’

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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Newton’'s method formula
to solve 2e%* + 22 — 8 = 0.

2e™n 4 2 — 8
2eTn 4+ 2x,,

(@) @ny1=an -

Danetr~ 1 4+ 2p.,
2ern 4 g2 — 8
2etn 4 :c,,% — 8

Drnetn—1 4+ 2.

(D) @ng1 = an —

(C) #pt1=n -

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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Newton’'s method

en 4 . for solving et 4+ x = 1.:
(a) on -
etn 4+ 1 Ln+1 — [
etn 4+ x 1
(b) @n — -
efn 41
() an— 520>
a:‘ —_—
et 4 gy,
(d) none of the above
0% 0% 0% 0%
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Newton’'s method

) for solving 2% 4+ x = 4:
et + xp — 4 — 77
(a) Ln — 233n_|_ 1 xn—-l "ot
2x
e + T
(b) Ln — e2%n +1
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Newton’'s method

for solving e + 12 =
6593”—|—CC,,21—7 — 77

(a) tn 5e5%n 4+ 21, n+1 =
e5$n _|_$2
e2Tn a:% — 7

(C) Ln — eDTn + 22,

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

12

0of5 Topic 0530 10 pts




Newton’'s method formula
to solve (cosz) 4+ 23 — 4 = 0.

B (sinxyn) + 32
(coszp) + 23 — 4

_ (coszp) 4 ap—4
(b) Tl = o —(sinzy) + 3x2

(a) LIn+4+1 — Ln

(cosxn) +z3 — 4
C = 2p —
( ) Tntl = o (sinxy) + 322

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

0of5 Topic 0530 10 pts =




Newton’'s method formula
to solve 23 + 22 — 4 = 0.

3 2
(a) $n+1—$n—xn+xn *
312 + 2xn
3x%+2$n
(b) Lpnt+1 — Ln 33%4—1:%—4
3x2—|—233n
C = — n
( )a:n_|_1 o T3+ 22 — 4

0% 0% 0% 0%

R Vv > ™
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Newton’'s method formula
to solve z° + 23 = 4.

5 3
o + x
a — n T
( ) tntl Tn T 5:{}% -+ 3:13,,%
o Sxar 4 33:7%
(D) a1 =amt e s
5 3
x> + x
C — L mn T
( )xn_H n 5mﬁ+3x%

(d) none of the above

xy + x5 — 4 0% 0% 0% 0%
4 >
S5z + 3%
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Newton's method
f(zn) for solving f(:l’:) = 1:

?7?

(@) 0= ) Tnl =

[f(zn)] — 1
f(zn)

f,(fl?n)
C) xy —
( ) f(zn)

(d) none of the above

(b) zn —

0% 0% 0% 0%
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Newton's method
[f(zn)] — 5 for solving f(:l’:) = 5!

f!(zn) Tpt1 = 77

(a) an -

[f(zn)] — 1
f(zn)

f,(fl?n)
C) xy —
( ) f(zn)

(d) none of the above

(b) zn —

0% 0% 0% 0%

R Vv > ™
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